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I Continued analysis of 1 nywn: after the animal dies, the 7ax has 'nn 10 728 NrMY, not NY210 1N 7aR
i Question: what is the difference between 'nn 11 928 NRMV and 192230 10 2R NRMV?
1 Answer: if a piece of meat comes off of it — if 728 nrMY — not RNYN anymore; if N%721 NRMY — still knoN
ii  Source: for M 0 9aR NRMYV — v1
1 Challenge: needed to teach that only some (nnnan n) are xnvn — if he slaughters a 197V — not Xnvn
(a) Defense: then the nmn would say nnnan; it uses nnnan in to teach both
(b) Challengne: if so, then perhaps flesh (from a live animal) is also xnon
(c) Response: per Rn»12 —v1 uses death as standard;
(i) o» 7 just as nnna's death cannot be revived, so only a piece which cannot regenerate
(ii) p”7. just as a nnna has tendons and bones. ..
(iii) 227 just as nnna has flesh, tendons and bones...
1. Note: »21 and y™ disagree re the knee (no flesh — 7279 — Xnvn)
2. And: » ™ disagree re the kidney and lips (don't regenerate — 7% — Rnon)
(d) Parallel ¥r7772: Te WX (v2) — with same authorities voicing same opinions
(i) Justification: if we only had nnna, X”10 that it has no n»”nn XML since it doesn't have NWTYIa NRMY
1. And if: we had y7w, 8”70 since it has no Xwn nXMY >no NN IRML
I Xmare: NN N 2R NRNIV as DHYIIR NRMV
a  If he cut a 1 of meat from an 'nn 10 728
i If- he had intent for food after cutting it — 110
ii  But if: he had intent first — xno
1 »wr’rwhy is it XRnv — it is DINON N2 NRML (since it was unseen before being cut) — not Xnvn
(a) ’ox 1 had asked and been told - this follows n" — XnvN DINON N2 NRNMIV
(b) Challenge (r*): n™ distinguishes between nxmv which requires 9wan (not Xnv) and which doesn't
(¢) Question (827): perhaps it was already w20
(i) Block (727 27 92 727): doesn't need 9w3n; it had NN NxMY (*'nn 10 9aR) when connected to limb
(if) Response (827): the limb acted as yy (support- not food) >n7mn nkmv doesn't obviate need for 7wan
b Related questions: regarding meat acting as "wood" and therefore still requiring w37, since 1MnN NRM not reckoned
i »an: a pile of "MW which hardened and he made it into a seat (npaa AMn) - VI NRMYV (seat) must be 11277
1 Argument: if it were Rn»1R7, we find foods able to have nmmn nkmv (and no foods need 1w3n)
2 Rejection: it served as "wood" (not food)
ii ~ »awx: food offering to 1"y is YnRa RNYN — must be 13277 (same argument as above)
1 Rejection: it served as "wood" — wnw py nWn (since it became NRIN NOR)
iii s food stuck onto vessels are like the vessels and ©Xnv — must be 13277 (same argument as above)
1 Rejection: as above — W yy nwyn
iv. X275 977 33 PRpw — 29N in villages requires intent (e.g. to sell to non-Jew) and 7w27; its NkMY with kidney is 13277
1 Argument: else, we see that food can have nnn nrmv itself
2 Rejection: as above — wnw Y nwyn
v mnp 27 if he used grasses (that had had ©2%218 nkmv) to cover his house — became MY
1 Argument: @92 nRMV in this case must be 11277 — else, we see @Y1 able to have nmnn ARMY (Nan NYY)
2 Rejection: as above — ww Py NN
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III'  Analysis of w"'s opinion, declaring the 9ax that fell off to be 10V after animal dies
a  Challenge: either way — if animal's death generates 97 (as if limb fell off) - should be 'nn 11 72x; else — n%230 10 72K
b Clarification: v™ is referring to the Xw’1 — "hanging limb and flesh have 8" in situ and require 1w2n" — but v" is AnVN
i Reason (72n12 771 owa »ox 7): v3 2> food that can be fed to others is called Y218; otherwise, not called Y218
ii  challenge (’pN "15 1”7): perhaps w™'s reason is since it's still attached — considered one,
1 Per:n:y p¥pw —if a branch of a fig tree is (largely) detached, n1n’ ™ — fruit still 1100 (=1210n0)
(a) oopomif the branch can survive as is, 1nY; if not, considered wiYn
(b) And: we explain that "mn> "9's reason is nMyn MY RN (since it's connected at all — considered 721n)
¢ Rather (’n8 77): 13 "7's explanation is regarding w"'s dissent in the middle clause regarding the need for 2wan
i Towit: per v3 —any food that you may not feed to others isn't called 521 (vis-a-vis nkn0% 1WI0)
ii ~ Challenge: perhaps w™'s reason for not being 7w via the o7 is
1 Per »37(or 727): that the animal cannot become the 1 to the 728 or
2 Per a7 7. that w™ holds that the limb or flesh are not considered one with animal once they are hanging off
d  Rather: 30y '9's explanation is re w™'s opinion in last clause, but not regarding 2R, rather regarding 7va
i If animal dies, the flesh requires 7w2n and ™ declares 1Y
1 And: vy 1 anchors this opinion in v3, per nw77 above (since it may not be fed to anyone — not called 521R)
IV n mwn: status of human limbs that became detached while human was alive
a  Limbs: are mno
b If he dies: flesh is still Mo,
i »7r limb has no nnn 11 928 nrRMY, but does have M N 7a8 NRMY
ii w7 fully mnvo
1 Challenge (to »”): if death reckons limb as 9197 — should have 'nn 1n 928 nrMY
(a) And if not: should be nnn 0 728
2 Answer: 9"'s comment was of a general nature: n”1 ruled that the limb has 'nn jn 728 nrmY but not nnn 10 72K
(a) Implying: that there is a notion of nnn 11 928 NRMY
(b) w”r there is no such thing, per
(c) Am7793 MYHR " reports a NYIW that "nn 1n 7R is Rnon;
(i) »ywrr 7 only 'nn 1n - but not nnn n?
1. Arqument: if 'nn 1n 728 — who is still alive (711), is XnVY; 17p that nnA 0 128 (who is ®NV) — RNVH
a.  Corollary: n"m prohibits eulogies on 10p Nva >1WRY Noa is permitted?
i.  Rather:1"p that eulogies are prohibited on 'w&1 Noa; same reasoning applies here
(i) 97258 77 that is what he heard
¢ Distinction: between "M 11 928 NRNV and NN 1N IR NRMIV
i Answer: if there is a o1 of flesh and bone the size of a barleycorn that separates from nn jn 7ax
1 Per: y:y nvm1y
(a) If:a m1 of flesh separates from mn 0 7aR
(i) ~”rregards as &nv
(i) P 73 ¥2202 71 and Yy ’7 regard as NNV
(b) But if: a bone, the size of a barleycorn separates from mn 1n 7ar
(i) M z3 8202 77 regards as RnY
(ii) 7797 7% regard as NV
() In sum: ywiny 1 (:w"7) regards NN 10 7IRN VAN DR TV as NNV
ii  Alternate answer: perhaps this is the difference between w™ and p”n in our nwn
1 To wit: a m1a of flesh or a bone, the size of barleycorn is their point of dispute
(a) Unclear: if p"n holds like X" in N1y or like n”237 — but w”1 holds like Y1’ "1 — neither is RNV
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